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Objective Question

Which among the following rights is not group right. according to Will Kymlicka?

1. Self government rights

2. Polyethnic rights

3. Special representation rights
4. Right to speedy trial
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Objective Question

521902502 who among the following has defined delibrative democracy in terms of pluralistic association?

G. C. Sen

A Hanson

3. 1. Cohen

4. P. Samuelson
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Objective Question

331902503 wpo among the following thinkers is an advocate of cosmopolitan democracy?

Plato

Hegel

Kant

S. D. Lawrance
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Objective Question

34 1902504 \Who has stated that the idea of "praxis” is most clearly developed in a short eleven paragraphs or theses, that
Marx had written to himself in 18457

1. H. J. Laski
2. B. R Nelson
3. ]. Wood

4. R. E Lenser
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Objective Question

331902305 which among the following thinkers can be equated with the statement that, He proposes an ascetic communication, the purpose of whi
1s to remove objects of desire'?

. Karl Marx
. Plato

. Glaucon

. Polybius
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Objective Question

361902506y among the following thinkers holds the view that no citizen should be sufficiently opulent to be able to purchase another and none

poor as to be forced to sell himself?

1. Locke

2. Burke

3. Rousseau

4. Kant
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Objective Question
57 1902507

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_2B_Live_Poly_Sci_E_1-150.html 45/113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html

Who among the following scholars had levelled the eriticism against J.S. Mill that. "we cannot separate two
different compartments of individual conduct"?

. Barker
.C.E.M Joad

. L. T. Hobhouse
. R. M. Maclver
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Objective Question

38 1902508 Who has stated that, if life only were the object. slaves and brute animals might form a state?

. Plato

. Aristotle

3. Confucius

4, Hannah Aredent
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391902509 \ho is the author of the book 'Federation Versus Freedom'?

. Pandita Ramabai
.M. N. Roy

3. Dr. B.R. Ambedkar
4. Ram Monohar Lohia
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Objective Question

60 1902510/ \h said. 'the truth is not that the spirit of conflict and conquest is at the origin and in the center of the
western nationalism'?

1. Swami Vivekanand
2. Rabindranath Tagore
3. M. K. Gandhi

4. Dr. B. R Ambedkar
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Objective Question
61 902511
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According to Sri Aurobindo the task of "spiritual revolution" is based on

1. Truth consciousness

2. Parliamentary democracy
3. Radical humanism

4. Individualism
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Objective Question

2 1902512 1 L . - . . .
62 1902512 \£ho said, ‘Radicalism thinks in terms neither of nation nor class, its coneern is man: it concerns freedom as

freedom of the individual'?

. Sr1 Aurobindo
. V. D Savarkar
.M. N. Roy
4. Deendayal Upadhyaya
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Objective Question
63 1902513
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Who wrote the book 'State in capitalist society'?

1. Nicolas Poulantzas
2. Karl Marx

3. Rosa Luxemburg
4. Ralph Miliband

We 3 Pluefine T TF & aas 3 o7

IR ECARRSINIET]]
2. PTd T

3. ST AgoHaE
4. 3w fafads

Al
A2
A3
A4

Objective Question

64 1902514 o amongst these is the proponent of the "process model” of social movements in comparative politics?

1. Peter Evans

2. Charles Tilly

3. Dough Mc Adams
4. Ralph A Turner
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Objective Question
65 1902515
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"The logic of collective action" explaining the mobilization of interest groups in comparative political analysis
is given by which of the following scholars?

. Theda Scokpol

. Marcus Olson

. Nicolas Poulatzas
. Paul Pierson
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Objective Question

66 1902316 yWhich of the following regimes of welfare states corresponds to Richard Tittmus's Institutional Redistribution

Model in his three-fold classification of welfare state?

1. Anglo-Saxon Regime

2. Scandinavian social democratic regime
3. Conservative continental regime

4. Australian regime
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Objective Question

67 1902517 wpo among the following political thinkers reformulated the principle of realism by Hans I. Morgenthau from

a feminist perspective?

. Gunder Frank

. Janet Abu

3. Ann Tickner

4. Hannes Peltonen
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Objective Question

68 902518 |1, Commission on the Status of Women was established vide resolution of the

1. ECOS0C
2. UNEP
3. WHO
4. UNEF
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Objective Question
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691902519 which of the following agreements does not outline country-specific emission targets but emphasises on
climate change mitigation?

. Kyoto Protocol

. Law of Sea Treaty

. Montreal Protocol

. The Paris Agreement
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Objective Question

701902520/ The jdealist school of thought in international relations proposed to replace’ balance of power' by-

. Secret diplomacy
. Disarmament

3. Autocratic rules
4. War
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Objective Question
71 902521
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Which among the following countries is not a member of NAM?

1. Burkina Faso
2. Angola

3. Cameroon

4. South Sudan
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Objective Question

721902522 Who among following Prime ministers spoke about India's approach towards the US and Soviet Union drifting

towards a cold War as
" 2 = : : iz - .

They are our neighbors in Asia and inevitably we shall have to undertake
many common tasks and have much to do with each other”

. Jawaharlal Nehru

. P.V. Narsimha Rao

. Atal Bihari Vajpayee

. Manmohan Singh
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Objective Question

73902523 o among the following is the author of the eritical scholarly memoir. "Envoy to Nehru"?

. Escott Reid

. Walter Crocker

. Ramachandra Guha
. Pratap Bhanu Mehta
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Objective Question

74 |02524 Rajiv Gandhi's participation at the Six Nation Five Continent Peace Initiative was a campaign

1. to end nuclear testing.

2. for integration with Africans regional institutions.
. for import substitution.

. to end apartheid regime.
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Objective Question
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751902525 \Which of these postulated the introduction of an elected President in the municipalities?

. Lord Ripon's Resolution, 1882

. Lord Mayo's Resolution, 1870

. Bombay Municipal Corporation Act, 1888
. Gujarat Municipalities Act. 1964
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Objective Question

76 1902526 1, wwhich year did the amendment to the Constitution extend the Panchayati raj provisions to the scheduled

areas 7

. 1992
. 1995
. 1996
. 1997
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Objective Question
77 1902527
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Limited franchise was introduced by which of these Acts ?

. Indian Council Act. 1892

. Government of India Act, 1935
. India Independence Act. 1947

. None of these
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Objective Question

78 902528 Which among the following is not included in the right to life under Article 21 of the Indian Constitution as
interpreted by the Supreme Court?

. Right to suicide

. Right to privacy

. Right against public hanging
. Right to good health
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Objective Question
79 1902529
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Who among the following scholars has written the book "Remapping India: New states and their political
origins"?

. Ashutosh Varshney
. Louisie Tilllin

3. Paul Brass

4., Suhas Palshikar
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Objective Question

80 1902330 which of the following statements does NOT indicate deepening of democracy facilitated by gendering

politics in India?

1. Women participating in politics as a community or group.
2. Articulation of political voice of women.

3. Women from upper caste carrying out a silent revolution.
4. Women getting involved in the public sphere.
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Objective Question
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811902531 wpo among the following argued that. "when NGOs are tied up with social movements, they have

occasionally changed their political agendas"?

. Neera Chandhoke

. Gurpreet Mahajan

. Niraja Gopal Jayal

. Manoranjan Mohanty
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Objective Question

821902532 who among the following scholars gave the statement that. "In course of time. however (while Nehru was still

alive), the Congress party ceased to be a movement and became a party and government"?

. James Manor

. Morris Jones

. Rajni Kothari

. Yogendra Yadav
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Objective Question
83 1902533 who among the following thinkers said that. "The communication of intangible facts, opinions, suggestions

and suspicions that cannot pass through formal channels are communicated through informal channels"?

. Hebert Simon

. Max Weber

. Chris Argyris

. Chester Bernard
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Objective Question

841902534 Which period of the evolution of public administration is referred as 'The Exploratory Period'?

. 1887-1910
. 1910-1947
. 1947-1970
. 1970-1980
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Objective Question
85 1902535
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According to MP Follett. which of the following is not a principle of organisation in achieving coordination?

1. Coordination as the reciprocal relation of all factors in a situation.
2. Coordination by indirect control.

. Coordination in early stages.

. Coordination as a continuing process.
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Objective Question

86 1902536 who among the following thinkers proposal the concept of "Mental Revolution"?

. F W Taylor

. Elton Mayo

. Chester Barnard
. H. Simon

fafafad ¥ fo femae 3 TRy sifa $F SaURon &1 wiard faar ur

b =

S PN

1. TP, &, ¢’

2. Uee {441

3. TR TS

4. TIIEHA
Al
A2
A3

A4

Objective Question
87 1902537

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_ 2B _Live_Poly Sci_E_1-150.html 60/113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html

Which of the following websites is a comprehensive website of Citizen Charters of Government of India?

. www. goecharters.nic.in

. www. goindiacharters.nic.in
. www. goicharters.nic.in

4. www. echartersind.nic.in

FAfeiad o 9 & H-d dadge YR RPR & ANRS F1e: J Halid U fawgd dadise 82

B

. www. goecharters.nic.in

. www. goindiacharters.nic.in
. www. goicharters.nic.in

. www. echartersind.nic.in

o

Al
A2
A3
A4

Objective Question

88 1902538 NTI Aayog was established through the Cabinet Secretariat resolution dated

1. 01-12-2014
2. 01-01-2015
. 01-01-2016
. 01-12-2016

Fafafad fog [l &1 Sfene afaaay Yoo (edg) & 91e0d T i S & RO 31 1S 9

S V]

1.01-12-2014
2

.01-01-2015
3.01-01-2016
4.01-12-2016

Al

1

A2
2
A3 3
3
Ay
4

Objective Question
89 1902539
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Who among the following has written the books 'Public Policy Making Reexamined' and Design for Policy
Sciences'?

. Horlod Lasswell
. Thomas R Dye

. Rosolio Peter

. Yehezkel Dror

ﬁaﬁ%@ﬁﬁﬁ%ﬂﬁ’qﬁﬁqﬁﬁﬁ%ﬁ-ﬁqwﬁﬁ UUs [Suig1 BR UlierRl Qg de AHe Yo
foEt g2

[

du Lo

1. B1eS Argad
2. U AR S
3, it diex
4, USSP d 9K

Al

A2

A3

A4

Objective Question

90 1902540 ywhich of the following Commissions/Committees recommended for the establishment of the Lokpal and

Lokayukta for First time?

. First Administrative Reforms commission
. Santhanam Committee
. A.D Gorwala Committee

. 1md Pay Commission

frafafad sH-= s/ a3 gl IR dieur e diegad @ o o S faa an

b2 =

L

YT YRS YR SR
. TYE U (FiHf)

. U.ST. TIRare gifa

. Te<lta da= smanT

3 =

S V)

Al
:A2
A3
A4

Objective Question
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o1 1902541 which among the following statements are associated with Harold J. Laski?
A. Every state is known by the rights that it maintains.
B. We do not mean by the rights the grant of some historic conditions possessed in the childhood. but lost in
the process of time.
C. Rights in fact are those conditions of social life without which no man can seek in general to be him self
at his best.
D. Rights are the legal opportunities for a successful life.

Choose the correct answer from the options given below:

.A. B, Conly
.A.C.D only
. A and C only
. B and C only

FofiRad & O B T By gRIes ol Al ¥ Hdfdd 8

A TA® T W HRIEG USRI § S S 8

B. 3ifU®R ¥ areqd 39 wfaua Ufaefas qxnsi 3 =51 § 5 arearawl § ur o1 i wohd § 86 S99
GIEGEE R

C. a%qa: SR JmEIfere Siia= &1 d 2= & o fam &15 1} IS Sraraaa gafad sffa fafg
Tl B e

D. 3fIPR IBd siig- fHafg & foy fafte sraw 3

A= feu e fased| o ¥ Hel SR 1 99 BIuIL:

b =

da Lo

1. Padd A, B, C
2. HdA A, C.D
3. Pad AR C
4. %aAB AR C

Al

A2

A3

A4

Objective Question

921902342 Which among the following sentences are associated with the notion of equality described by Amartya Sen?

A. The basic capability, equality can be the sole guide to the moral good

B. Morality is not concerned only with equality

C. Basic capability. equality is a partial guide to the part of moral goodness that is associated with the idea
of equality

D. The index of basic capabilities like utility, can be used in many different ways

Choose the correct answer from the options given below:

B and D only
. Aand D only
.A.B. C only
.B, C,D only

B
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Fifed 5 T $1 I a9 3w I gR1 affd gamear & =R 3 J6s 82

A, GHACT B Hayd Afagar Afde yarg o ue 9 s 1 gware)

B. A &1 96y $Had UHdl 4 76l |

C. TEYd T Sae SHFar 39 Afad Yars &1 e e § o 99 & GUR 9 9ges o)
D. Hayd HAEadl & Yad auT Sudiiidr & yant fafts i § foan o 9ear 5

ey fexw aw fapedl o & @Er W @ 934 AT

1. $aaB AR D
2. FITAAMRD
3. BAAA.B.C
4, $IAB.C.D

fxl
A2
fx3
A4

Objective Question

93 1902543 which among the following thinkers hold the view that. liberty is destroyed because the propertied classes possess the power to dominat
others?

A. Rousseau
B. Marx

C. C.Locke
D. Engels

Choose the correct answer from the options given below:

.B. C.D only
. A.B. C only
3.A. B.Donly
4. Band D only

FHifeed & 9 7 iaRe! &1 74 § 1% Wdaar 8 1 91 & Jaiiee SURT 9 aF & 919 S0 Safakd] IR W SI Qe sicl 67
A E
B. O
c. di. die

D. Toiey
1 fau ¢ fasedl & U 981 R &1 997 DI -

b =

1. $GdB.C,. D
2. $a0T A, B.C
3.$adA.B.D
4. %$9d B ARD

Al

1

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_2B_Live_Poly_Sci_E_1-150.html 64/113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html
A2

A3
A4

Objective Question

94 902544 Erantz Fanon's book Black Skin, White Masks' includes following chapters:

A. The Negro and language

B. The Negro and culture

C. The Negro and Psychopathology
D. The Negro and Recognition

Choose the correct answer from the options given below:

1. A.B. C only
2.B and D only
3. Aand C only
4. A C.Dounly

el A &1 TP s (b, glec A 1 Fafafad siom ifa g
A T 19 uus dEy
B. 191 UUS PR

c. 19T uus e YTt
D. =T UUg Rp1vEE

A fgu 7 faoedt & & 66T 30X @ o diell:

Al
A2
5\3
A4

Objective Question
95 1902545
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Gramsei holds the view that:

A. Progress 1s an ideology and becoming is a philosophical conception

B. Becoming is a philosophical concept from which progress can be absent
C. Progress depends on a specific mentality

D. Progress and becoming were born at the same time

Choose the correct answer from the options given below:

.A.C.D only
.A.B.C.D only
. A and C only
.Band D only

et &1 fima g 1 -

A. T U foaRyRT 8 3R faefi e affe sauron g

B. et te aife sauron & /s wifa @1 faar sufua 8
C. W U faRy 77 R R R axar &

D. W 3R 4 31 354a U &1 S A §311 5

e few T et F & §ET 3AY O T el

L2 =

du Lo

1.$dd A. C.D
2. $dd A.B.C.D
3. PAAAIARC
4. %HaAB AR D

Al

A2

A3

A4

Objective Question

96 902546 1f e consider the Gandhian idea of satyagraha as a dialogue, then which among the following statement is

not true?

A. The nature of Gandhi's truth facilitates dialogues.

B. The nature of Gandhi's truth is antithetical to equality.

C. In such a dialogue parties are constructed as the adversary.
D. The quest for truth is a shared exercise.

Choose the correct answer from the options given below:

A and B only
. C and D only
B and C only
. Aand D only

F e SR
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T gge F el fIuR &1 U Jarg & =0 8§ g1 i § a9 Fafafad § oF-9 oy I e e

AT & 9 BT WY TG S U §Ad ¢ |
B. Tl & G &1 W0 FHHAIG 7 favief 2|
c. 0¥ garg B, <u fRidt = d fFAffa s g
D. I P TGSl TP 10 T 85

A BT 70 fAdedt # F F960 30¢ & 99 hifa:

1. $ITANRB
2.%gd C AR D
3. %gaAB AR C
4. FTAAANRD

Al
A2
A3
A4

Objective Question

o7 |P02547 According to Kautilya, which among the following six methods of foreign policy is applied by the would-be

conqueror to the element of his Circle of States?

A. Making peace.

B. Remaining non-violent.
C. Staying quiet.

D. Seeking support.

Choose the correct answer from the options given below:

.A.B.C.D only
.A.B. C only
B €,
A,

b =

D only
C.D only

PIfeed & STHR, HIAT HTEhT=1 301 IS4 P Yy arat &7 1 faa -ifa & 2. fafdgl & Fafafaa o
fep=TepT TR ol &2

A, 77 RITYAT |
B. TR-3ffEar 3 fRufg &=mu @)
C. 2id el
D. guf U &)
A feu 90 et & & O 30< @ o hilelk:

S T

1. $dd A, B.C.D
2. $GA A, B. C
3. %494 B.C.D
4, $dd A, C.D

Al

1
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A2

A3

A4

Objective Question

A. He wanted to revive 'swaraj from below’.
B. The basic unit of political organisation would be the gram panchayat.
C. The gram sabha would act as the basis of grass roots democracy.

Choose the correct answer from the options given below:

Aand B only
B and C only
. Cand D only
.A. Cand D only

La =

L

A TEIH FEd TR Y RIS B GAGad B DI SUET Bl
B. AGHIe T3 Bl Jeryd Sobls A8 gamgd gl |
C. AT S TR & Aldad & YR & =Y 5 1 Bl

=y BT 7w fawedl & § el 30 @ 994 $ias:

1. Fad A R B
2. HaaB AR C
3.%ada C AR D
4. FIAA.C ARD

Al

A2

A3

A4

Objective Question
99 1902549
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98 1902548 which among the following statements is true about JP Narayan's plan of reconstruction of Indian polity?

D. This would also involves establishing an organie link amongst the different units of the panchayati raj.

YR 90 GRIT & G161 o, 0. TR0 e & R § Fafafad § o5-89 sy 98l 82

D. U8 UIIIdl I &1 fafie sosal & &g e e Jay iftd & & o e ghm
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Which of the following are the basic features of Eric Hobsbawm's theory of nationalism in Europe?

A. There are three phases of nationalism that have shaped states in Western countries.
B. He defines nationalism, for instance as reinventing traditions.

C. He identifies petty bourgeoisie as a group that advocated separatist nationalism.
D. He ignored the emergence of ethno-lingustic nationalism in East and West Europe.

Choose the correct answer from the options given below:

.A.B.D only
B and D only
. B and C only
A, Cand D only

ZRIU B yAIE & TR gTeqaiH B Rigid B 1 fGRvarg Fafiad § a o 82
A, XTFTE % i =R # ot St et @ o gen 3
B. 3 PTG DI IR (301 § Farexund: TRuRTS! &1 JRieH)

C. 38 GG AIaTal PTG &1 GHY- B3 ard 9 & w0 H FE-g9en a7 ®I fafed feam
D. 391 4di Ud i g9 # olliig-HTNTS IpaTs & Sfavia o FoRsig & |

e few T et F & §ET 3AY O T el

L2 =

du Lo

1. $Ed A, B3R D
2. %A B 3R D
3. PHaAB 3R C
4.FaA A, C3RD

Al
A2
A3
A4

Objective Question

100902550 ywhich of the following principles are used to study the 'attitudes of people’ i.e political culture in comparative

politics?

A. Riker's strategic principle

B. Converse principle

C. Robinson's principle

D. Gallagher's least square index
E. Rae's factionalization index

Choose the most appropriate answer from the questions given below:

1. B and C only
2. Cand E only
. A and B only
. B and D only

EE ]
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fFrafataa o 9 5 fasial @1 vai an o SRy s aTere Jemid B IeHiae S5 &
Herg o forg fean man 82

A. R &1 Ui [Hgid

B. b H THgid

c. e o1 Fagia

D. TTEiR 1 T o g @

E. X D1 eddIdhRu gah

4 fer o el F & 99 30X B 99 hireT:

1. FaaB AR C
2.%dd C 3RE
3. Pad A 3R B
4. %aAB AR D

Al
A2
A3

A4

4
Objective Question

10179025511 which of the following statements given by Juan Linz and Alfred Stepan are true?

A. Both civil society and political society are complementary to each other.

B. The complimentarity is always recognized.

C. Rule of law is condition for consolidation of democracy.

D. Modern consolidated democracies have pure market economies only.

E. Modern democracies must have effective capacity to command, regulate and extract,

Choose the most appropriate answer from the questions given below:

1. A, C and E only
2. Aand B only

.B. C and E only
4. B. C and D only

T S IR 3ps WIud gRI AU U FEafad 4 9 3 1H-4 $YF 981 87

A ARG GHS 3R Ae-Tde G a1 UH-G8R & TR ¢ |

B. [Radl 9o SR e |

c. faf¥y &1 e Aeda & TSI DI |

D. 3TYf% THfdd didad § dad s SR SHSHaRII Bl 8 |

E. MY Ao § e, fif e oiR 5= 3 yuidt emar giar 8

e few T et F @ §ET SAY o T el

[¥5]

1. PaA A, C R E
2. %dd A IR B

3. PadA B, C IR E
4. %ad B, C IRD
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Al

A2
A3
A4

Objective Question

102902552 The justification for humanitarian intervention lies in-

. global interdependence
. national interest

. moral pluralism

. regional stability

Onwe

Choose the most appropriate answer from the questions given below:

Aand C only
B and C only
. B and D only
.Aand D only

Aadiael s5dad & fore shfae Fefafaa 7 3 foad Ffgagiar e
A %f%%gmﬁmm
B.
c.%aﬁﬁfﬂa
D. &5 fARar

AT fgu 77 oot & & G 3a¢ @ o ool

2 =

L

1. FaadAAdRC
2.%gaB AR C
3. %adaB AR D
4. F$aAAIANRD

Al

A2

A3

A4

Objective Question
103 902553
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Which of the following statement represent the impact of globalisation on terrorism?

A. Globalisation has permitted exchange of ideas and goods which is exploited by terrorist groups.

B. The internet has allowed terrorists to recruit new followers.

C. New technologies allow terrorists to operate in highly distributed network.

D. Insurgent and terrorist groups in Iraq and Syria have not built sophisticated improvised explosive devices
(IEDs) despite global access to resources.

Choose the most appropriate answer from the questions given below:

.A.B.C &D only
.B & C only

. A.B. C only
.A.B.D only

fgifpd & 9 B 9 HYF SdHalg R aSiaHw & TuE & Fefid sar s

A é@fgﬁé%mmmﬁmwﬁ?aﬁw%ﬁmmwﬁw%wmw
e !

B. $E3C $ PRI AAhaTSH 7Y ATl Bt Heff B3 il 8

c. T& vt & SR sidwardt st faxga afie Fead & oma Fa o1 sea aR i 8

D. % IR W1 & fasiet iR sdeard! Tg afye I BT Iue/dl P SIea SAd [Ipled
S (HEZSL) Tel ST ULE)

A few 0 Taeedt & & W 30X o A el

R

1. $AdT A, B. 3R D
2. HIAA. B AR C
3. PIAA.B. 3R C
4.A.B.3IRD

Al

A2

A3

Ad

Objective Question

104902554 Which among the following statements represent the prineiples of Just War?

A. War as the last resort

B. The purpose of war is revenge

C. War must be declared on the basis of normally acceptable aims

D. A wholesale invasion is a justifiable response to a border incursion

Choose the most appropriate answer from the questions given below:

A, Cand D only

. A. B and C only

. A and C only
.A.C.DandE only

L2 =

da Lo
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FAfad & 9 3 H 1 Y a1 W0 S & Gl o1 Hii-1od B3l 62

A AU SU H FUH g |

B. TS &1 WToH Hia<ie g1

C. g Hf-arda: 3fe Eu 3 Wier a&dl & SMYR TR 81 9ifvd a1 & a1fgy)
D. < & Beas1 gl ¥ 3Hid® ar g1 ey

E. GHU0: §9 TR TR STHH0T H1 TR S a7 S1shA0 &1 raifad smEfhar s

A e T et F & 99 3OX 1 99 hires:

1. HAA A, C 3R D
2.Fad A, B3R C
3. FPaAAIRC

4. HAAA. C.D IRE

Al
A2
A3
5\4

Objective Question

1051902555 Wwhich among the following constitutes membership eriteria of the NAM?

A. The country should support national independence movements.

B. The country should be a member of multilateral military alliance concluded in the context of great power
conflicts.

C. The country should have adopted an independent policy based on co existence of states
D. If the country has granted military bases to a foreign power, the concession should be in the context of
great power conflicts.

Choose the most appropriate answer from the questions given below:

. Aand B only
. A and C only
Aand D only
.B. Cand D only

e FRUE S-E1e B aRid] & O FafiiEd § 8 $H g2

A, 3R & YT WA ST B gAY BT AMiey |

B. &X & Horawl 99y & d5¥ H. IX @I 9gERig 9 e YT @1 U Hawd g 9Ty |

C. 98 <X Wil Xodl & Fe-3if&ia W Sfsd wdd Hifd & sroamar st |

D. gﬁ%ﬁaﬁﬁwﬁﬁm IMYR WTTT B3 B WP Sar 8. I HeT I Just & e 7, 38 ge
|

T for T feedt F & TET 3OY o T el

b =

O]

1. $ad A IR B
2. PAAAIARC
3. Had A HRD
4. %ad B, C IARD
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Al

A2
A3
A4

Objective Question

106 902556 yyhich among the following statements is true about rise of alternative perspectives on Indian foreign policy?

A In the mid 1960s, the Swatantra party presented a classical conservative perspective on foreign policy.

B. It was led by LK. Gujral.

C. The supporters were drawn from former bureaucrats. business community and members of princely families.
D. They united in their opposition to Nehru's Fabian economics.

E. They believed in the forces of the market and private enterprises.

Choose the most appropriate answer from the questions given below:

W e
P W

b

YR fac=r =iifd 9 dopfcte efeiv s 3aa & R 3 FEfeiad 3 o1H-4 o4 98l 67

A. 1960 & 3 P N T WoAdl Ure] A faew Hifd uR gefiie wiewd efdeiv/ uRkvied uegd foar |
B. 3M15. &. T[GRIA A 39D g (&4 |

C. 5P FUe Ud A1HMel, SR YHary 3R Rumdl oRaRl & el 9 3m v |

D. 4 5% @ Bigud sifegawrsii & favly g Uhye gu U

E. d oiR aul ol Seri of Ifddl R oy oed 4 |

AR en 7T fadedl 3 @ WE 3A€ o =3 el

1. $dd A, B.C.D
2. $G0 A, C.D.E
3. %90 B.C.D.E
4. BdAA.B.D.E

Al

A2

A3

A4

Objective Question
107 902557
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Which of the following is not included in the list of India's initiatives in support of the US in strategic
collaboration since 20017

A India did not offer support for US anti terrorism mission in Afghanistan.

B. India expressed opposition to President Bush's decision to withdraw from the ABM Treaty.

C. India voted with the US at September 2005 International Atomic Energy Compliance Board of
Governors meeting to declare that Iran was non-compliant of NPT.

Choose the most appropriate answer from the questions given below:

1. A only
2. B only
3. Conly
4. A and B only

ay 2001 ¥ UM Feain ¥ sfadie] S0 1§ YRA & T8 &1 g ¥ Fafiiad § 8 SH-oF Sifd

&

A, MBI B SasiaRidt smdet fRM 5 yRd = 92H < &1 0Ra1d el a1 o)

B. YRd 7 U & T0 9 9 a1 Hoa- & & Foig &1 faxty o

c. Ry 2005 H S=RIFTE RAmfde Sl srueH IR i $1 9o A RA S TH RS
@ ST S IS DR H YR 7 SFRIDT 1Y Hear fhar oy

A few 70 Taeedl & & W 30X o A el

1. PadA
2. $ad B
3. %adC
4. PaTAIRB

Al
A2
A3
A4

Objective Question

108902558 | \hich of the following statements is/are correct regarding parliamentary proceedings?

A. Starred questions requires an oral answer and supplementary questions can follow.

B. Short notice question is asked by giving a notice of less than 2 days.

C. The Adjournment motion needs the support of 50 members to admit it.

D. The Zero hour starts immediately after the question hour and lasts until the agenda for the day.

Choose the correct answer from the options given below:

.A.B.CandD only
.A. Cand D only

. B and D only
.A.Band C only

B

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_2B_Live_Poly_Sci_E_1-150.html 751113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html

Iy Hdad $ dey H pH-a1 e sy i g/ &

A. TRIfrd w%i & TRE® SR QU O § oiR IR st & ot 59T SR fihar o 9&dr g
B.mmqazﬁ?qﬁméﬁq@aﬁ?

C. R U¥1d & U 50 GS=1 & GRIT 54 ARl QU & &1 Sa=dadl gl o1

D. YABIA B YO FHPTA &b i a15 81 oIl & AR 37 1R & AU DRI 9% U8 Iadl &l 8

4 fer o el F & 99 30X B 99 hireT:

1. $EAA. B.C ARD
2.Pad A, C IRD
3. %dd B 3R D

4. FAAA. B3R C

Al
A2
A3

A4

4

Objective Question

10971902559 | Which of the following statements is/are correct regarding Supreme Court of India?

A. Under the Arbitration and Conciliation Act 1996. International Commercial Arbitration can also be
initiated in the Supreme Court.

B. The Supreme Court has special advisory Jurisdiction under Article 143.

C. Article 32 of the Constitution gives an extensive original jurisdiction to the Supreme Court with regard to
enforcement of Fundamental Rights.

Choose the correct answer from the options given below:

Aand B only
. B and C only
. A and C only
.A.B. Conly

YR F I=Ia9 T & TR & FERifla I sua adi e/ &

A, HEIRH %ﬁ?W fefaH. 1996 & i SIqRTPTE IS AegeyH +ff S=rad g | 3RY
EEEGI

B. 3w9< 143 & 1 S=IqH AMIed & U fa2y gassR! SfieRar e

C. T & wg 32§ Hifad USRI & Uad- & g & Sedd A1arad &l aas Hifad
HfereBTIaT & 715 ©)

A fer 7w Rdedt # § 99 30X 1 99 B

O

1. Had AR B
2. %A B 3R C
3. %ad AR C
4. Hdd A, B, C

Al
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A2
A3

Ay

4

Objective Question

1101902560 \wrhich of the following statements have not been made by M.N. Srinivas regarding caste politics in India?
A. There is horizontal solidarity of caste in India
B. Modern technology created hurdles on the way to cast solidarity

C. There was even vertical solidarity between castes
D. There was competition amongst castes in political economie sphere

Choose the correct answer from the options given below:

A and B only
B and C only
.B. Cand D only
.A. Cand D only

fgiferd o F o YRd T oifa e o & 9R J U9, T AifFa & su Al © -
A, YRd T 910 & YR R &f0e Tosedl
B. 31y TNt & RIS Fgid (TBTD) B A H del Ias g3

c. fofim sfaal & nen Ieafer uwTerdmar o o
D. Toifa® e &z 994 f3fia sfash & e ufaegyf o,

= fGu ow foshedl # § GE IO A T T

B

1. Pad A NRB
2. %aaB AR C
3.%adAB. C 3R D
4. FAAA. C 3R D

Al
{xz
A3
A4

Objective Question
111902561
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Which of the two factors enhanced the growth rate of Indian economy in the 1980s as per Arvind Panagariya?

A. Attitudinal change amongst the policy makers.

B. Expert incentives for private companies.

C. Political leadership was skeptical about import substitution industrialization.
D. A more realistic exchange rate policy.

Choose the correct answer from the options given below:

. B and D only
B and C only
.Dand C only
4. A and B only

SRIdE IIRAI & SR 1980 & e H FHifehd srieyawl # ¥ &1 31 SRUM & HRU HRdAY
Hfoamy Bt fger R ¥ 3iE g7

A, Hifa Fofarstt & siftgfs afvad |

B. foit gt & fero Fafa wiers= |

C. IS g I STaTd W=Ta Sfieiiexo & aR ¥ I4g of |
D. 3U&TEHd siftre TurdRe fafma <= Fifa

Jrr fer 7T et F § W 3O O T eI

L2 =

L¥5]

1. %ad B 3R D
2. HIAB AR C
3. ®aAD AR C
4. 5dd A 3R B

Al

A2

A3

A4

Objective Question

1121902562 who amongst these are meant to serve the shop floor according to Fredrick Taylor's functional foremanship in

his scientific management theory?

A. Speed Boss

B. Repair Boss

C. Route clerk

D. Time clerk

E. Ingpection foreman

Choose the correct answer from the options given below:

.C.D & E only
.B.D & A only
.A.B&E only
.B.A & C only

[

S VS
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TheRe TR F TPHIHS BRAFRY & IR AT F0R & Iar HHifed § ¥ $H-3 3gug gk §
fore | e 361+ HaY Rigia o &1 &

A s a9

B. U@ a9

C. F¢ TP

D. TISH Gd

E. Sl wREE

4 fer o el F & 99 30X B 99 hireT:

1. %ad C, D AR E
2.%ddB.D AR A
3. %dd A, B 3IRE
4. HAAB, AR C

Al

A2

A3

Ay

4
Objective Question

1131902563 | ywhich of the following statements is not correct regarding management according to Peter Drucker?

A. Management is subjective

B. management has a specific role to perform

C. Management is designed for ordinary citizens too

D. Management approves the mechanistic model of organizational management

Choose the correct answer from the options given below:

B and D only
C and D only
. Aand B only
A and D only

fer SR & SFTHR U~ & §R 8 Fgifed # § & ¥ SYF 961 761 o -

A. TEY A a8

B. TaY I fafdy yffrest &1 Fde s gsar g

C. UeY o1 i e IR AR & fog i g g

D. &Y= & WTeATH® WaY & Fitie Wy (e & Wigfa &g 3

A fgu 77 f@edt & & §ET 30X @ O hiiell:

a =

Lo

1.%ad B AR D
2.%gdacC ARD
3. %ad AR B
4. FAAAINRD

Al
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A2
A3

Ay
4

Objective Question

1141902564 \wrhich of the following statements is/are correct regarding Central Information Commission (CIC)?

A. CIC was constituted through an official gazzette notification under the provisions of the RTT Act 2005.
B. When CIC was constituted initially. it has five commissions including Chief Information Commissioners.
C. The Chief Information Commissioner holds office for a period of three years from the date on which

he enters upon office.

Choose the correct answer from the options given below:

A and B only
A and C only
. B and C only
.A.Band Conly

3 G AN (& i S aR A Feffa f 3P A/ Ao Edi g/ B

A. Tt 31 T BT 167 Y1 & SHUBR (3R T 3415) SMAFTH 2005 & TG & SiqTid @ TToie
SR & TreAw Y T T oy

B. T 315 Ul &1 9@ 6 g3 U1 76 ¥ &1 39 &0 a1 g Sied Uid g o ol

C. T T S 30 ey 31 fafd (@) 3 o o 31 oafd 9o 3o ug R 71 51§

= fgu 77w foshedl # § TE SO A T hITET

B

1. $ad A IRB
2. PAAAIARC
3. %aaAB AR C
4. FAAA.B IR C

Al
{xz
A3
A4

Objective Question
115902565
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Which of the following Laws/Rules are restricting the disclosure of official information to the people?

A. Official Secrets Act, 1923

B. Commission of Enquiry Act, 1952
C. Indian Evidence Act. 1812

D. Fifth Pay Commission

Choose the correct answer from the options given below:

.A.B.C.D only
. A. B and C only
.B. C and D only
. A.Band D only

fafarad o 9 s H-d/ 3 faftal / a0 | (9F) 3 Jeiid Uee 39491 B U (SRIvd) $- 9
e =l e

A, TS / SRS Mo-gar a4, 1923
B. Sirg-STANT T84T, 1952

C. URdg 91&g Jfeam. 1872

D. U9H da- ST

T for T feedt F & TET 3OY o T el

L2 =

du Lo

1. ®Pdd A.B.C.D
2. BIAA.B AR C
3. %aAB.C IRD
4. PAAA.BIRD

Al
A2
A3
A4

Objective Question

116 902566 ) fateh List T with List IT

LIST I (Books and Concepts)|LIST II (Thinkers)
A [Ethics of Care I [Kate Millet
B. |Sexual Politics II. |Carol Gilligan
C. [Powers of Horror II1. Julia Kristeva
D. [Ecriture Feminine IV. [Helene Cexous

Choose the correct answer from the options given below:

. A-L B-II. C-IIL. D-IV
. A-IV. B-IIL C-II. D-I
. A-IL B-1. C-IIL D-IV
AL B-IV. C-1. D-III

O

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_2B_Live_Poly_Sci_E_1-150.html 81/113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html

Yt 11 g 11 Y e Siforg

A Hﬁlﬁﬂww 1. e Heie
B. o3 uifcicad |1 [@RId e
C. [OTa HTh 5% 111 [Siern fheetal
D. iz i Vg &g
frafafed famel & 9 w6t SR T I DI :
1. AL B-IL C-1II, D-IV
2. A-IV, B-IIL, C-I1, D-I

AL B-L. C-IIL D-IV
- A-IL B-IV. C-1. D-III

da

Al
A2
A3

Ay
4

Objective Question

1171902567 \fateh List T with List IT

LIST I (Books) LIST II (Authors)
A |On Violence 1. [Hannah Arendt
B. [Reason and Revolution II. [Herbert Marcuse
C. [Where do we go from here 1T, |Kirk Russell
D. |The Conservative Mind: From Burke to Elliof] IV. [Martin Luther King Jr|

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV. D-III
2. A-IIL B-IV. C-II. D-I
3. A-L. B-II. C-IIL. D-IV
4. A-IV. B-IIL C-I. D-II

it 11 G 11 Y e Siforg
a1 = 11
TS SKCE
A | 9ETF I [gdl 3T
B. Riv tos RRalegzHA 1L [ge< AREgy
C. [RRgAMBHE R 1. [fdhes 8
D. [& &oRdlcd Ales WiH 9 ¢ giome | IV, [ R [ S-aR
Frafaiad fae el O 9 981 5Tk &1 98- S -
1. A-L B-IL. C-IV, D-III
2. A-IIL, B-IV, C-II, D-I

. A-L. B-II. C-IIL. D-IV
. A-IV. B-IIL C-I. D-II

b
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Al
A2
A3

A4

Objective Question

118902568\ fatch List T with List IT

List I

List IT

. [Rabindranath Tagore] L

True freedom

J P. Narayan I

Chaukhamba Modell

. [Fam Manohar Lohia| [11.

[Hindu Rashtra

lwlle] [+ b=

. [V. D. Savarkar IV.

Sampurna Kranti

59 _2B_Live_Poly_Sci_E_1-150.html

Choose the correct answer from the options given below :

1. A-I. B-IIL. C-IV. D-II
2. AL B-IV. C-II. D-I
3. A-L B-IV. C-I1. D-III
4. A-IV. B-L. C-I1I. D-II

11 g 11 9 e Siferg
Gl I
A REmINaR | L [ocs 3= Wdad
B. [o. df. A= 1. [AEararsa
C. R TR ditedn| 111 [ig=g I
D.[di Sl g | 1v [ggul wifd
fFafciRad fawedl O I I8! SR &l 98- DI ;
1. A-I, BIIL C-IV, D-TI
2. AJIL, B-IV. C-I1, D-I
3. A-I B-IV, C-II. D-III
4. A-TV, B-I. C-IIL. D-II
Al
1
A2 5
2
A3 3
3
Ay
4

Objective Question
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Match List I with List IT

LIST I (Concept/ Theory) LIST II (Proponent)

A [Critique of rational choice mstitutionalism's advocacy of universal generalizations | I [Campbell & Pedersor)
B. |Study of institutional change in skill regimes in Britain, Germany, Japan and the US| II. |Scharph

C. |Origins of sociological mstitutionalism II1. [Eathleen Theleen

D. [Discursive institutionalism IV. [Mever and Rowan

Choose the correct answer from the options given below:

1. A-IL. B-IV. C-I. D-III
2. A-IIL B-IV. C-L. D-II
3. A-IL B-IIL. C-1IV. D-I
4. A-1. B-II. C-IIL. D-IV

et 1ep1 g 11 9 T iforg

T T
faaeyul TG & HIaH! \_ a
2 %rmm%mmawmﬁ&n?ﬁam : SR IS
g |5, L SO 3R SERIeT § S|
' [y H SR GRadH B 3 ' |§i Ej’
C. |Gk SRITdTG ol ol 1L 4=
D. [dchHuic GRIATG IV. [Ha2 3R a4

fFafaRed faweal © 3 981 SR &1 999 I

1. A-II, B-IV, C-1, D-IT1

2. AL B-IV. C-1. D-IT

3. A-IL. B-I11. C-IV, D-1

4. A-1. B-II, C-II1. D-IV
Al
1
A2,
2
A3 5
3
Ay
4

Objective Question

120 902570 fatch List T with List IT

List I List IT
. [Robert Cox I. |impact of international regimes on cooperation
. |[Robert Keohane | II. |Interaction between social forces. forms of state and world orders)
. |Alexander Wendt| III. [Constructivist idea of social structures
. [Rob Walker IV. [Emphasis on continuity and repetition in social structures

lwllel [+ b=

Choose the correct answer from the options given below :

1. A-IL. B-1. C-II1. D-IV
2. A-L. B-II. C-IIL. D-IV
3. A-IIL B-IV. C-L. D-II
4. A-I1. B-1. C-IV. D-III
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Yt 11 g 11 9 e siforg
Gell T 11

A [red dieg . [FEa W SfRIFTT ufagE! (&) &1 vy

= HHTIE dTddl, Tod & WUl 31T

B REE T | I s 3w afg. oy

C. [3rctdaia duge] 1. [amTerd TRa-ref & Ig-marg) [ddR
St . I g AR gEeE ST H

D. Rfg afee v R

FrafaRad ldeei O o 98l Stk &1 994 Sl -

Al

A2

A3

A4

1. A-IL. B-1. C-III. D-IV
2. A-L. B-II. C-IIL. D-IV
3. A-IIL B-IV. C-1. D-II
4. A-II. B-1. C-IV. D-III

Objective Question

12119025711 \fateh List T with List IT

LIST I (Thinker)

LIST II (Determinates of Foreign Policy)

. [K. J. Holsti

I |National role conceptions’

. Ponathan Mercer

II. |Emotion & Cognition-co produce emotions)

. Panice Gross Stein|

III. |Process of Political learning’

w]lel [+ h=

. |Arnold Wolfers

IV [National security as 'ambiguous symbol’

Choose the correct answer from the options given below:

1
2

3
4.

. A-I B-II, C-IIL. D-IV
AL B-IIL. C-IV. D-I

AL B-IV. C-1. D-II
A-IV. B-III. C-I1. D-I

161 g 11 9 e siforg

lEEEMAEGED

T

=

NG

. TPt YT SEeRumy

SAE AR | I

4T 3R U3 U 91 Fa
] IH P &

. [elRggE T |11 [reEtide S Bl ulkar

gln| =

_|srATeE aemd | v | ey Udier & = U | v gean

frafafed foeel @ 9 98t SR T Ig i

1. A-L. B-II. C-III. D-IV
2. A-ILL B-II1. C-IV. D-I
3. A-IIL B-IV. C-1. D-II
4. A-IV. B-III, C-I1. D-I
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A2
A3
A4

Objective Question

122902572 \fatch List T with List IT

59 _2B_Live_Poly_Sci_E_1-150.html

LIST I LIST II
A [Politics and Ethics of the Indian Constitution] I. [B. L. Shankar and Valerian Rodrigues|
B. |[The Indian Parliament II. [K. C. Wheare
C. |Federal Government I11. |Rajiv Bhargava
D

. [Indian Constitution: Cornerstone of a Nation| I'V.

Granville Austin

1. A-IIL. B-II. C-1. D-IV
2. AL B-L. C-1L. D-IV
3. A-IL. B-1. C-IIL. D-IV
4. A-IV. B-IIL C-II. D-I

Choose the correct answer from the options given below:

1. A-IIL B-II. C-1. D-IV
2. A-IIL B-I. C-IL. D-IV
3. A-IL B-1. C-IIL D-IV
4. A-IV. B-IIL C-II. D-I

Al
A2
:A3
A4

Objective Question
1231902573

a1 191 g4l 11 9 e Sifore
T GGl

N ?“ TS TR AP TISH | Ly v iy IR FARTH
B. [& SUSTH UIicare 1L [ Ol &R
C._ [reeq aq4e Il IR E]

SUST Bl cg8: DI = i
P- 3itp vmm IV. [oFffaat e
Fafaiad fae el O 9 981 STk &1 904 Sl -\
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Match List I with List IT

59 _2B_Live_Poly_Sci_E_1-150.html

LIST I (States/ Union Territories)|LIST II (Year of Establishment)
A [Punjab 1. |1966
B. |Gujarat II. |1960
C. |[Ladakh 11 2014
D. |Telangana IV 2019

Choose the correct answer from the options given below:

1. A-L. B-II. C-IV. D-III
2. A-L B-IL. C-IIL. D-IV
3. A-IL B-1. C-IV. D-III
4. A-I1. B-1. C-IIL. D-IV

et 1 PTGl 11 9 eI iforg
A I

11
A [daTE L |1966
B. [T=Rm@ 1L [1960
C. [FEra 1L 2014
D. [deTHT Iv. po19

fafeiRad fasmedl O I TEt IR &I 90 DI ;

. A-L B-II. C-IV. D-III
. A-L B-II. C-IIL. D-IV
AL B-1. C-IV. D-III
AL B-L. C-IIL D-IV

b =

o

Al

A2

A3

Ay

4

Objective Question

124 902574\ fateh List T with List IT

LISTI LISTII
A [Rational choice Theorv of Public Administration] 1. [Emulates private sector practices
B. [New Public Administration II. [Encourages research in policy analysis
C. [New Public Management I1I. |Devices principles and laws of public administration|
D. |Golden Era of Public Administration IV. [Focus of norms and client lovalty

Choose the correct answer from the options given below:

1. A-I. B-IIL. C-IV,. D-II
2. A-IL B-IV. C-1. D-III
3. A-IIL B-II. C-1. D-IV
4. A-IV. B-IIL C-II. D-I
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I 11! 11 ° eI Siforg
T 1 T I

A_ [T RIS @1 [da@yyl [addd [eid| 1 [39H ol 63 &1 UGid &1 e [l 74 81
B. [7d i u=maA 11 [5on f-fa=ewor 8 g ®1 W od T o
C. [7a did usita 111 [555 die U= & (a1 iR 9] S0 T 5
D. [dlich URIEH @1 %0 7T 1V, [55H Ui SR Sardl &1 (81 R < a1 sidl 61
Fafafad fae el O 9 981 SoR &1 98- S -

1. A-1, BIL, C-IV, D-II

. A-IL B-IV. C-1. D-III
AL B-I1. C-1. D-IV
ATV, B-IIL C-ILL D-I

Lo

Al

A2

A3

Ay

4

Objective Question

125 902575 \fateh List T with List IT

LIST I (SGD goal number) LIST II (Goals)
AP [. |Affordable and clean energy
B. |7 II. [Life on land
C. |10 II1. |Gender equality
D |15 IV. [Reduced inequalities

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV
2. A-ILL B-1. C-IV. D-III
3. A-IIL B-1. C-IV. D-II
4. A-1. B-III. C-1L. D-IV

el 1 p1 Al 11 9 T siforg

A1 T I
kil b5
Afs L [ae1Y vd W Sl
SF
C
D

|7 1L [gedl OX Sildd
o 11 [feRT (S12%) TEFdT
s IV, [SEAFEE & @HF Dl

fafaRad faseul © U 98t SR &l 98- I :

. A-L. B-IL. C-IIL. D-IV
. A-IL B-1. C-IV. D-III
AL B-L C-IV. D-II
.A-L B-IIIL C-1L. D-IV

b =

o

Al
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A2
A3
fA4

4

4
Objective Question
126 902576 | ... : : : i G Pt Ly e sy
Chronologically arrange the following books in order of its publication year.
A. Liberty after Freedom
B. Four Essays on Liberty

C. The Constitution of Liberty
D. Two Concepts of Liberty

Choose the correct answer from the options given below:

|
Dowp

np o
> » o

oW
ww oo

PN Fal

aifehd [ad! & 39d YHT=RH a9 & YR TR SIamd § ogafeyd $ifor:
A, et sifreR whiss

B. BR T 31 ferad]

C. & PiEieTy A faad]

D. T $1UpY 31t fgef

e few 0 Toeedt & @ §ET 30X o WA el

B W
o 0wy
NnpEnNw
WU o
e 0 g

Al

A2

A3

A4

Objective Question
127 902577
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Asrange the following chapters of Leviathan in correct sequence:

A. Of sense

B. Of imagination

C. Of reason and science
D. Of speech

Choose the correct answer from the options given below:

1.LA.B.D.C
2.D.B,C.A
3LAC.B.A
4. C.D.A.B

C
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Objective Question

128902578 Arrange the writings of Dr. B. R. Ambedkar in a chronological order:

A. Annihilation of Caste

B. Who were the Shudras?

C. Future of Parliamentary Democracy
D. The Untouchables

Choose the correct answer from the options given below:

A B.C&D
.B.AAD&C
3JADB&C
4 ABD&C
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Objective Question

Arrange the following events of the U.S constitutional development in ascending order:

A. Establishment of the Federal Council of the U.S.A.

B. Introducing the Articles of Confederation of the U.S.A.

C. Addition of Bill of Rights in the U.S. Constitution.

D. 14th Amendment to the U.S. Constitution that guarantees equal protection of laws.

Choose the correct answer from the options given below:
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Objective Question

130/1502580 Chronologically arrange the moments of crises of modern capitalism:

A. U.S sub-prime mortgage crisis

B. Argentine economic crisis

C. Dot com erisis in IT-related stocks
D. Mexican economie crisis

Choose the correct answer from the options given below:

.D.B.C&A
.B.D.A&C
A B.C&D
.D.B.A&C

Y Guliare & Hbel @l Safd T SIapHTIR odRyd HIWT:
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Objective Question
131902581
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Asrrange the following peacekeeping operations in chronological order:

A, UNAMID in Darfur

B. UNMISS in South Sudan

C. UNAMIR in Rwanda

D. UNPROFOR in former Yugoslavia

Choose the correct answer from the options given below:

A.B.CandD
.B.C.Aand D
3D.C.Aand B
4, C.D.Band A
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Objective Question
1321902582 Arrange the following Committees /Commissions on local governments in chronological order:
A. G.VK. Rao Committee
B. Ashok Mehta Committee
C. Thungon Committee
D. L.M. Singhvi Committee

Choose the correct answer from the options given below:

il i o
e W
nwro
SRSYCRS
Wonw

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_ 2B _Live_Poly Sci_E_1-150.html 93/113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html

W YR © Gaied HafeRad Qfadl / SmanT ol SrasaraR 7 9 Saiyd S

A. ©fl 41 & g ginfd
B. 321 Hgdl Fiifd
C. Y7 Fimfd

D. Ud. U, Riydt g

a4 few mw fwedt F & 98 30X w1 99 hifEw

Pl oot Sl
> W
oW o
gnPn
[osBw M@ v]

Al

A2

A3

Aty

4

Objective Question

133/1902583 Arrange the following political parties in a chronological order according to their year of formation:

. Samajwadi Party

. Bharatiya Janata Party
. CPI (M)

. Shiv Sena

Onwe

Choose the correct answer from the options given below:

W
NnNow

> w0
W ) O

o
ol B

Fifrd IeifaE gal & 39! WINH g9 & YR IR FIeHH § oafeud $ifod

A, gaTSaE uréf
B. YR o-dl Uief

C. PRIFE Urel 31 Sfsan (ArRiar )
D. Rrad1

Immmwﬁﬁﬂﬁmﬁmﬁﬁu

Iq!—t
nnow

»Own
o e O

PR
O ne

Al

1
A2 5

2

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_2B_Live_Poly_Sci_E_1-150.html 94/113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html

A3 5

3

Ay

4

Objective Question

1341902584 Arrange the following events/ conferences of public administration in chronological order:
A. The Philadelphia Conference
B. First Minnowbrook Conference

C. Publication of book "Public Administration in a time of Turbulance” by Waldo
D. Publication of "The Elements of Administration" by Urwick.

Choose the correct answer from the options given below:
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Objective Question

1351902585 place the following legislative acts in chronological orders:
A. Right to Information Act
B. Consumer Protection Act

C. Right to Education Act
D. Lokpal and Lokayukta Act

Choose the correct answer from the options given below:
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Objective Question

136902586  Given below are two statements:
Statement I: The socialist movement developed in France in the form of syndicalism.
Statement II: Syndicalism rejects the idea of class struggle.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3, Statement I is correct but Statement II is incorrect
4. Statement I 1s incorrect but Statement II is correct
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Objective Question
137902587 Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:

Asggertion A : There is a significant ideological difference between political parties in a polarized multiparty
system with a strong dose of dogmatic radicalism.

Reason R: Political coalitions in polarized multiparty system are viable.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
. A is true but R is false

. A ig falge but B is true
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Objective Question
138902588
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Economic globalisation promotes prosperity and opportunity for all.

Reason R: Economic globalisation promotes an open, market-based economy that brings social and political
benefits.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true but R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R 1s false
4. A is false but B is true
AT 31 U 15T AW - Uk HAHUA (Assertion A) & T A fATEA ¥ A GINT 3T (Reason R) HROT & & #;

HiFRT A 3T dafentor, Tafy va wal % v saer o e oar B
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Objective Question

1391902589 Given below are two statements:

Statement I: India's foreign remains pre-occupied with concerns about territorial integrity nationhood and
independence of decision making.

Statement II: The structural logic of the global bipolar conflict gets reflected in the regional bipolar conflict
between India and Pakistan.

In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement I are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement I is incorrect
. Statement I 1s incorrect but Statement IT 1s correct
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Objective Question

140902590 Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : A prismatic society has hetrogenous structures existing side by side and which are diametrically
opposite to each other.

Reason R: The social change in a prismatic society would be inconsistent. incomplete and unresponsive.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A
3. Ais true but R is false

4. Ais false but B is true
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Objective Question

1417902391 14 3¢ interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who, as a young man. who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism.,
and whose upbringing in that doetrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Toequeville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together. they emphasised along
with Burke, emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Tocqueville did not do: he was interested in
critically analyzing a conerete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill, on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of concrete reforms that de Tocqueville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Which one among the following clearly reflects in the writings of Tocqueville

. Debating the validity

. Critically analysing

. Philosophical validity of liberalism
. Creating a pressure on Mill

a0 =
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Objective Question
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It is interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philesophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who, as a young man. who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism.,
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Toequeville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together, they emphasised along
with Burke, emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Tocqueville did not do: he was interested in
critically analyzing a concrete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind, the kinds of concrete reforms that de Toequeville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Who among the following thinkers espoused feeling and intuition that influenced John Stuart Mill?

1. Locke

2. Bentham
Wordsworth
R. C. Smith
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Objective Question

143902593 14 ;s interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who, as a young man, who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism,
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Tocqueville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together, they emphasised along
with Burke, emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doetrine. This de Toequeville did not do; he was interested in
critically analyzing a concrete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of conerete reforms that de Tocqueville advocates in 'Demacracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Match List I with List IT

LISTI LISTII
. [Tocquevelle I. JRationalistic doctrine
[Young Mall II. [Democracy in America
[Edmand Burke | III. [Espoused in literature
. [Wordsworth IV. [Espoused Philosophically

o] o[l

Choose the correct answer from the options given below:

A-L B-IL C-III. D-IV
. A-IV. BAIIL C-I1. D-I
. A-IIL B-I1. C-1. D-IV
A-IL B-1. C-IV, D-III

b =
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It is interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge. who espoused in literature what Edmund Burke had espoused
philesophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who, as a young man. who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism.,
and whose upbringing in that doctrine had cut him off from much of what is genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Toequeville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together, they emphasised along
with Burke, emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doctrine. This de Tocqueville did not do: he was interested in
critically analyzing a concrete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind, the kinds of concrete reforms that de Toequeville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R:
Assertion A : Young Mill was overly exposed to the scientific doctrine of Utilitarianism.
Reason R:Utilitarian doctrine had cut him off from much of what 1s genuinely human.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct
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1451902595 14 1o interesting that John Stuart Mill’s turn away from narrow utilitarianism began with his reading of the
Romantic poets, Wordworth and Coleridge, who espoused in literature what Edmund Burke had espoused
philosophically. They emphasised feeling and intuition rather than mere logic and rational categories of
thought. And it was this emphasis upon the emotional level human experience that attracted the young Mill
who, as a young man, who overly exposed to the scientific and coldly rationalistic doctrine of utilitarianism,
and whose upbringing in that doctrine had cut him off from much of what 1s genuinely human.

But Mill also had read de Tocqueville. And just as the Romantic poets taught Mill that utilitarian psychology
was lacking terms. de Tocqueville pointed out to him its sociological inadequacies. Both demonstrated the
need for a certain conservative perspective on humanity and society. Taken together, they emphasised along
with Burke, emotional aspects of human behavior and the need for human beings to be integrated into some
strictly rational-individualistic perspective of classical liberalism.

What makes John Stuart Mill uniquely important in the development of liberal thought in his revision of the
underlining assumptions of the classical doetrine. This de Toequeville did not do; he was interested in
critically analyzing a conerete example of liberal democracy. not in debating the validity of the liberal
ideology as such. Mill. on the other hand, was precisely interested in the philosophical validity of liberalism.
To his mind. the kinds of concrete reforms that de Tocqueville advocates in 'Democracy in America’ required a
more fundamental reform of liberalism’s basic philosophical assumptions.

Given below are two statements:
Statement I:Romantic poets taught Mill that Utilitarian psychology lacks in human terms.
Statement II: Toequevelle pointed out scientific inadequacies of Utilitarian philosophy.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement I are true

. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

b2 =
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Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economie techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convince the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

Which of the following technique is considered as 'Gold Standard'?

1. Randomized sampling

2. Justified sampling

3. Randomized control trails
4. Snow ball method
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Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economie techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convince the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

In which of the following field is 'The Randomized Control Trials' used mostly?

1. Space Research

2. Defence Research

3. Pharmaceutical Research
4. Oceanographic Research
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Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economie techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convince the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

Given below are two statements:

Statement I: The confounding thing about policy change is that it happens neither over night nor in a setting
where other environmental elements remain statie.

Statement II: Figuring out the impact of a specific change on the observed outcome change becomes a serious
metrological challenge.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement I are true
3. Statement I 1s true but Statement II is false
4, Statement I is false but Statement II is true
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uating policy is a challenging experience that requires intricate knowledge and clever use of statistical
and economic techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches is helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convinee the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

The RCT approach is to administer an intervention to a group of recipients from a large group of
potential beneficiaries:

1. Specifically Selected
2. Randomly Selected
. Qualified Selection
. Pre determined Selection
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Objective Question

15011502600 Evaluating policy is a challenging experience that requires intricate knowledge and clever use of statistical

and economic techniques. The confounding thing about policy change is that it neither happens over night nor
in a setting where other environmental elements remain static. Consequently. figuring out the impact of a
specific change on the observed outcome change becomes a serious metrological challenge. However several
standard techniques have emerged to access the effectiveness of specific policy discussion. A broad discussion
of a few of these approaches 1s helpful in understanding the logic of how to think about evaluating policy.
Most famous techniques for policy impact measurement often referred to as "Gold Standard" in impact
evaluation is Randomized Control Trails (RCT). Medicine and pharmaceutical research is the best example of
RCT method. The standard metrological technique is to select a group of respondents on whom the drug is
likely to work. The drug is then administered to a randomly selected subset of that group. The RCT approach
here is to administer an intervention to a randomly selected group of recipients from amongst a group of
potential beneficiaries to judge the effect of the intervention exactly. The RCT administrator can convinee the
policy maker to make his/her choice of beneficiary units randomly rather than by aligning it to some other
rule.

Given below are two statements:
Statement I: The standard metrological is to select a group of respondents.
Statement II: In RCT Trails every individual participant in the trail oliffees from everyone else.

In the light of the above statements. choose the most appropriate answer from the options given below:

. Both Statement I and Statement I are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I 1s false but Statement II is true
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